
 

C–2429/BBCCT–117 P. T. O. 

No. of Printed Pages : 8 BBCCT–117 

BACHELOR OF SCIENCE (HONS.)  

BIOCHEMISTRY (BSCBCH)  

Term-End Examination 

June, 2025 

BBCCT-117 : GENE ORGANISATION, 

REPLICATION AND REPAIR 

Time : 3 Hours  Maximum Marks : 70 

Note : Question paper has two Sections—Section 

A and Section B. Section A is compulsory. 

Attempt any five questions from  

Section B. 

 Section—A  

Do as directed : 

1. (a) Histones are basic/acidic proteins that 

are usually associated with DNA/RNA 

(Pick the right option). 1 
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(b) Name two inhibitors that bind DNA 

non-covalently. 2 

(c) Name two mutagens (physical factors). 2 

(d) What is Karyotyping ? Give its 

significance. 2 

(e) Define SNP. 2 

(f) More than ....... (50%/70%) of human 

genome is represented by transposable 

element. (Pick the right option). 1 

Section—B  

2. (a) Define Tm of DNA. Explain the factors 

affecting Tm. 2+2 

(b) What is meant by Denaturation and 

Renaturation of DNA ? 2 

(c) What is Cot curve ? Give its significance.  

6 

3. (a) Compare positive and negative super- 

coiling of DNA. Explain with diagram.  

4 

(b) Discuss semi-discontinous model of 

DNA replication. 8 
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4. (a) Describe different types of DNA 

polymerases in prokaryotes. 6 

(b) Elaborate the stages of DNA replication 

in prokaryotes. 6 

5. Write notes on any two of the following :  

2×6=12 

(a) Recombination and Gene mapping 

(b) Importance of transposable elements 

(c) Metaphase chromosome and its 

structure 

6. (a) Differentiate between DNA Base 

Excision Repair and Nucleotide 

Excision Repair. 6 

(b) Describe Ame's test for mutagenicity 

evaluation. 6  

7. (a) Discuss causes, signs and symptoms of 

Franconi’s anaemia. 6 

(b) What is genetic maternal effect ? 

Discuss its role in Snail’s shell coiling. 6 
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8. Define the following : 2×6=12 

 (a) Linking number 

(b) DNA ligase 

(c) Cytogenetics 

(d) Frameshift mutation 

(e) Genomic Imprinting 

(f) Mutagens 
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 BBCCT–117 

ch- ,l-&lh- (vkWulZ) tSojlk;u  

(ch- ,l-&lh- ch- lh- ,p-) 

l=kar ijh{kk  

twu] 2025 

ch-ch-lh-lh-Vh-&117 % thu laxBu] izfrÏfr;u ,oa 

{kfrlq/kkj 

le; % 3 ?k.Vs   vf/kdre vad % 70  

uksV % iz'u&i= ds nks Hkkx gSaµHkkx ^d* vkSj Hkkx ^[k*A Hkkx 

^d* vfuok;Z gSA Hkkx ^[k* ls fdUgha ik¡p iz'uksa ds mÙkj 

nhft,A 

 Hkkxµd  

1- funsZ'kkuqlkj dhft, % 

(d) Mh-,u-,-@vkj-,u-,- ls lEc¼ fgLVksu 

{kkjh;@vEyh; izksVhu gksrs gSaA (lgh fodYi 

pqfu,)A  1 
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([k) Mh-,u-,- ls xSj&lgla;kstd :i ls c¡/kus okys 

fdUgha nks lanedksa ds uke crkb,A 2 

(x) nks mRifjorZtu ds uke crkb,A (HkkSfrd dkjd)A 2 

(?k) xq.klw= iz:i.k D;k gksrk gS \ bldk egRo crkb,A 2 

(³) SNP dks ifjHkkf"kr dhft,A 2 

(p) ekuo lathu dk 
------------------

 (50%@70%) ls vf/kd 

Hkkx ikjkarj.kh; rRoksa }kjk iznf'kZr gksrk gSA (lgh 

fodYi pqfu,)A 1 

Hkkxµ[k 

2- (d) DNA dk Tm D;k gksrk gS \ Tm dks izHkkfor djus 

okys dkjdksa dh ppkZ dhft,A 2$2 

([k) Mh-,u-,- foÏfr;u vkSj iqu%izkÏru ls D;k 

vfHkizk; gS \ 2 

(x) Cot oØ D;k gksrk gS \ bldk egRo crkb,A 6 

3- (d) Mh-,u-,- ds /kukRed vkSj ½.kkRed vf/kdqaMyu 

dh rqyuk dhft,A fp= lfgr le>kb,A 4 
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([k) Mh-,u-,- izfrÏfr;u ds v/kZ&vlrr~ ekWMy dh 

O;k[;k dhft,A 8 

4- (d) izkDdsUnzdksa esa fofHkUu izdkj ds Mh- ,u- ,- 

ikWfyejst+ dk o.kZu dhft,A 6 

([k) izkDdsUnzdksa esa Mh- ,u- ,- izfrÏfr;u ds pj.kksa dks 

foLrkj ls le>kb,A 6 

5- fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k¡ fyf[k, %  

2×6=12 

(d) iqu;ksZtu vkSj thu ekufp=.k 

([k) ikjkarj.kh; rRoksa dk egRo 

(x) esVkQ+sl xq.klw= vkSj bldh lajpuk 

6- (d) Mh- ,u- ,- {kkjd mPNsnh {kfrlq/kkj vkSj 

U;wfDy;ksVkbM mPNsnh {kfrlq/kkj esa foHksn dhft,A 6 

([k) mRifjorZtuu ewY;kadu ds fy, ,ehl ijh{k.k dk 

o.kZu dhft,A 6 
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7- (d) QSadksuh dh jDrkYirk ds ewy dkj.k] ladsr vkSj 

y{k.kksa dk fooj.k nhft,A 6 

([k) vkuqoaf'kdh ekr`d izHkko D;k gksrk gS \ ?kksa?ks esa 

dop&dq.Myu esa bldh Hkwfedk crkb,A 6 

8- fuEufyf[kr dks ifjHkkf"kr dhft, % 2×6=12 

(d) lgyXuh la[;k 

([k) Mh-,u-,- ykbxst 

(x) dksf'kdk vkuqoaf'kdh 

(?k) izk/kkjl`fr mRifjorZu 

(³) thukseh; v/;adu 

(p) mRifjorZtu 

× × × × × 

 

 

 

 

 


